AFER
AL FEE PACKING LIST

BF: ERi3A

1,FESE:

Is: H2023011193 EBEE 3000kg

EBHEAY | THJ 3000 / 1.0 - JXVF EH: 2R40523000+ —{A1L
B/ 5/5/5 =GR

FRR | 2000x2850x2200 FiIRY: F45PUES1600 x 2100
2, {8685%:

e &I TERR R |@s= &
1 [ [590iE, B4, ERmSHRTESE AR

2 et |SER, HIUTE, B, SIPEIRRAN s

3 |mimiE  [BEiR, TR (DIB. S0, MURSE, E AR

4 s B, BINE AR E— A
5 |3 [MERFHERME, BUSIREE, RO AR

6 [SThEHSITIE, HE, £, SHES, B2 AR

A EED T AR

8 | [IINREE ka8 AR

9 [Nws |BiiEsan, By AR

10 [T [EH2R, SHREREE, SHE VB

11 [FRLER | DR RIER B e

12 [FmrR [T e

13 |sFmAszAE (RIS R B, WE e

14 9@ [EE, WERES, FRAHT, ES e

15 |7@2 |[REER, 3R, B, BLUR VB

16 4R | £, B31NLE At

17 9@ |xdEsR s

18 |Shmisr| SEh,. FREREE

FESMHE: 19 (&5

TR TREINF, LLEA—ERiER

Hiz=: B3 - Htx: eE: [t
SRIERINEI: E:
EPEREIL HHA:

R EATRERARENVER. B, BAFIERE, MEBWEZAE=A



Mo R &

o

Er=mT H2023011193 B/¥/17 5/ 5 /5
RS THJ 3000 / 1.0 - JXVF B PR~ 2000 X 2850 X 2200
LR JifEA FIIHRERT d4rP0)E . 1600X 2100
WA 55| bR % 5 /85 . K/ Hpr % I
e ) KpE=2214 o .
LA R LR O IR i Lot s |1 B SRR
2 | H BT IRE IR 2 AR ] 140X 60 4 | ededr b3
3 5l SIECRUEIR B 140 X 60 4 fE AL R
41 H UG pANa] 164, &% 130, Fi55% 4 ™ AL B
51 4 SHEAR brifE 150X 325, t=16 2 e | el g
6 | H Lo L Bl 350X 314 2 g e i
7| H BT ] 460X 314 2 g ZRTE LR
8 5l Bk ke, A 400-8-10-16 2 A LHRAE I
9 | H 5 i 48 F 4N B 1.=325 4 % RAE LR
10| H R AR A KJF: L=3200 fro HAMPATK 3200, RAFEE | 2 % | B R AR
1| A SHERATE Bt fE D16 kT 8 1| JREAESCRE |
12 A Lk 8 LB BRAE 3. 2064] X 72882 1 £
H AME A B 1032 0 14
3] H ENRE NS 63X 63X 63 Bt © 16 Fitf 8 A Skl
14| H TR PR IR0 1=2214 1 £ A
B 15 | H i) bRAELE 200X290, t=16 2 Yo | fhefE PR
hn = L for —
e ST WL 2#1’”1‘”1?‘;*;2‘1)8L1‘42660 | | 1zom
171 H LRI A= Bt 130 X 50 X 50 4 (i ERIE R e
18] H Pk EK FrAELE i 4 | AR
9] H FRRHAT D 1688 1800/1900 4 % | womaq R
20| H bk Bk TeR bR L= 400 2 £ | R
21| H HRERIT R p2 il 1=3000, FLEE2000 1 %
22| H fit 5 e Bt 295X 90 X 55 2 a3
23 | H 2 IR A FrAELE 1 £
24 | H LI €N Tebh bR 930 2 % | Z50f50, KFRHITE
26 | 4k il A A fiLT90/B, ZHFL75X75 H103 B8 S 4t 4 A
o7 4h it E AR 7 REAR s 2 A /I ER
4h B R AR 7 NEAR RS 2 A
) N Qo7 Z a8 (0| ARVFEFIE : 5100K6 LR
2 | 4 eht R (FWEHAL | g n/s B 16 mn | | Bl son
29 | 4k LA RN AR A, BERATK: 1989 1 £ | BEELRL
30 | 4t PUKSTF XS4 [ 1 T
SRR R 1. Smm MR 59 2K 1 £, 1953
31| H JEEERR =282, H=2200 2 f | 1 w053
32| H Ji HFEERR L=500, H=2200 3 {4 | 1. sotigbnon s 2 1053
B 133] H MR 5 EER . L=380, H=2200 4 | 1 s ger 1053
B34 A M BERR AR i A L e =500, H=2200 8 ff | v susmbmns 1053
Bl H HiEERR 1=82, H=2100 1 fF | 1w e 0ss
36 H FRYEERR 1.=382, H=2100 1 A | 1. stz g 1953
3| H R IHE RN RS 1.=2064, H=100 1 f | 1 mosirmnon e 1953
[ IHEIE 2 790 1 A | 1 st e 1953
138] H HIERTHAR 412 X 2064 1 1
139 H R THUER ) 500 X 2064 2 1 FFHTFL
i 40| H AR TR SRAEE 500 X 2064 2 14 | 7380 KL
141 H JEFRTIAR 412 X 2064 1 1
147 H IR 1. SR B9 K 5 £5,1953 1=425 H=2115 4 £ | BT, BIEE
155 | H JET IR 1. SmmARAR BT K 14 1953 L=425 H=2115 20 [ ERT 1811%F
H EESE 1. 2R 1.=2065 10 1 SRR
156 H ERE 1. Smm BRI 4K 11 €4, 1953 B=50 1=1720 5 %
5l (V&SR 1. S4B BT K (4 (5, 1953 B=50 H=2120 10 1
R 1. SRR 11 €5, 1953 790 5 s
158 H pNUIEEd% kL 14 1 il
H JEMS N 3R FrAELE 40%60 0 I
H EER FrAELE 8055 0 1
149 | Ab | woerkm GEbeiEo7asl-ac220) 917A61-AC220 1 1=
38| H EH BT L70X 70X 6 =250 15 1t
39| H ER/IES RS L70X70X6 L=200 15 1}
o 140 | B | EPBSIR+RIBR SR L70X70X6 L=1190 30 LS Fiti gt
;}’L 41| B RIS HRERD ] L70X 70X 6 L=150 30 1t
421 A RIS L70X 70X 6 1-1886 15 1 | L8107, fREE60
45 | H RHE L50 X5 L=500 0 1
46 | H RHERRD L50 X 5 L=100 0 1t




7 B x & F #B
LS H2023011193 B/3/1] 5 /5 / 5
FERRE THJ 3000 / 1.0 - JXVF BN R 2000 X 2850 X 2200
B 18354 FFIEARR iy PURE 1600 X 2100
| 5| Aris % W &5 /S z W o o &0 Bk B % IE
5K/%, |HE: 8 % W
43 | 4k B E S T90/B P Pe—— 46 PN
. 5K/%, |HE: 8 % .
44 | 4k X S TK5A K % R, 2 & 46 P/S
45 | 4h FFPERR T90/B 8 s
46 | b Bl SRR TK5A 8 s
47 | 4h E PR T90/B 76 A
g | 48 | 4+ SRR E) TK5A 86 A
ol 49 | 4 e S a R T90/B 18 A BRAAFEM
50 | 4k SR bRt & KL=1100 2 s FLIF96x96
51 | 4k S K10. 3 FLEE: 110 4 s FLEE110
53 | 4b SHUER A T90/B €= 0.5mm, 1.2mm 56 14 JE %
54 | 4k FHUER TK5A £=0.5mm, 1.2mm 56 1 JE 3 %2
55 | 4k LS JEAA 4 A
56 | H of 28 Bl Pl 1590 X 4100 1 S fic) HEl
58 | 4b XA kg, B ®400-8-10-16 A
59 | 4k UG 165, )% 125 4 £ | IEXUEEE, 1EHRY
60 | 4h o e AR 760 X 300 X 80 60 1 | 3130, 52kg/ 4
st 61 | 4k i H S 13K HorFE. B=17 4 A [~ HE#
® 63| H X 5 kA s 200%50 3 1| BERCIEX 4
64 | H X Fiky B P 350 X 340 2 A | B E
66 | H Xt FIEF R 1750 X 1220 2 1 B
67 | H o FAM R L X1220 0 1 B
68 | H o ARG L= 600 8 %
69 | H YK 64>, 1=3000 0 %
70 | 4k e s S5 LD-HC-L11 2 A
eS| 71| A X R A e LD-HC-L17 1 A
72| H JRIUIEH b wRE . H=1500 1 1
s WUEHE 1 m/s
E}% 73 | 4k PR 2 XSG607-B# [ L 33 2% #f2 . D8 mm 1 =S RS
Pk G B R . BN
4| A RERERR iRy laniiXus L=300 H=60 5 1 DR
Sc G| PR RAR S5 TP ELE L= 345 5 %
=576 | A PRI R8s % H: 1900 2 %
7| A FRA S48 FLEE110 L= 375 4 % wUehEA
8| B 155 JFE 4 S A4 I A 871 ©28, 208 AR, BT | 1 £ |L=925
9| B i 264 S [ I 84L 28, 20% 4K 1 # [1=350
80 | H UEDR & L=650, 16#H4K 0 %
P ERET eI SF19SNF_10 Pt ©10 864 % | 108k <8k
Q% 82 | 4h PR B E0 22 48 8%19s+PP-8 HfE: 8 49 K
83 [ 4k 3k ®8 6 A
84 [ 4h gk @10 EJetr: 48] 16 E
81| H LA I (HE] 1.=250 1 1= SR
85 [ 4k R E 1EHE 1 £
K E: 3000kg HE: Im/s T
= , ' WEI: 4:1  Dh%:18. 3kw A
51 86 | 4k [R5 5,51 bl GTW10X-301P0A-4 Py, TTov 1 = GT\HOX—4301POA—
:IIL MEe: ©410-8-10-16
87 H FAHLEE B BGEIE GTWI0X-301P0A-4| X EEAZE : (NE 1 A ST
88 | 4h EINi W3 2L 6 S
o2 5 T




7 B x & F #B
e H2023011193 BE/3%/1] 5/ 5 /5
e THJ 3000 / 1.0 — JXVF HRART 2000 X 2850 X 2200
EP2R ST FEIHEARERF MU - 1600X2100
WA 35| iR % E5 /85 . B A &5 IR AL & E
89 | H FREF R KJE: 3.8% 284#b T 74N 2 % LA
9 | H A H R K. 1.8% 18#b#4R 2 % LA
91 z g FE, HEIH | l6sHI T ;i’;
92| H RSk 7 2 3 Js Bt Bl O MFLEE: 240 1 %% | 10#184K, L=920
&l IR R B BRI 5804314 1 A
H, H BRI/ AR P4 ] =325 6 1
Gl H X T = g4 kg, B ®520-8-10-16 1 S
Ml o3| H BrR R g e AT Bl Fl 770 X 920 1 =
H BrRR e kg, B ®520-8-10-16 1 ™
94| H E A DEN kg, B ®400-8-10-16 1 1
&l I B R BIOAEN FEA5 i 1 L=780 2 15 | 25#1EM, RS 114
H MNERBRE ER 520*250 1 #|1.2485R
H WERENE EE R L=270 2 t# |4mmimitirs
95 | 4 | Sk, massuii 164, /% : 130, AU554 8 £ | MRS,
9 | 4k AR AT AR 2R 73000+ — &AL 1 = 22 kw
97 | 4h BEATHIZE . BUHRSE RS 22.6 K 1 z UL ]
98 | 4k FEHUBRR TR 4 ™
99 | 4t SIS i o = L R AR 1 £
oo 4 i ] YRR : 1150 X155 bie 5/5/5 | 1 £
gﬁ 101 | 5k | JEnRTa CRRBpD TR ALSNIT, bk 1 4
= 102 | 4 AN TCIR BT, it 3 A
g [103] 4h Tk AT & T BT, hrite 1 A
104 | 4b Ry AR 1 ™
105 4b RIS TV HE B [ =P epic) 220V / 40W 2 A
106 | 4b 2MEE 2 ™
107 4b B 2 A it
108 | 4b L e 2% L= 1000 /% 5 %
109 | 4 B FJiAE A E: 22 kw 1 A 100A
10| 4+ BT AT [ =P epic) 220V / 60W 1 A
1| 4k JEIELT AC220V 60WH53 = 5 ™
AR L BUKSH 5% 1 A
iﬁ 13| 4+ GARIRIT R LX29-7/3 0 ™
?q: 114 4 BT LEDAT : 1020 X 40 3 =
115 4b TEIGHIE AC220V#%/DC12V 0 A LEDXT
116 | 4+ FRAZFF2= (1370) 4 A
17| 4k Eiwspiing 1 S
18] 4b R R [#7% HD/BRB 2 it
119 | 4k = IRl E A 0 5 2 BVFRARERIE : 16 mm? 50 >k
120 4 =L 3X0.75 mm? 20 ¥
121 4k 2. SmmFE 4R Hh 2 20 K
122 4k 10mm2 3 £k Hh 28 20 IS
123 4k P FELAL M 5 B Rl 2k 23 K
124 4 BREkAE 80X 60X 1.2 5 %
125 4b LREERAR 10 1t
4b s 5K/% 2 %
ah [i] 5 £k 50 ™
W Moe [ s SR KEI, 930 8 * [
& or| st SR R, ®10 5 * It
;q: 128 4 BOE Rk ©30 mm 4 N
129 4b PSR ®10 mm 10 A
130 4 BRI D13, B 6 K JRITELH
131] 4 R Sk D13, 90° 10 A
b PR SR 1 A By
132 4k )=V %Kit 200mm 200 %
133 4b JIE K s ot ®6 mm 164 piA
134 4b A T A 3 &
135 4b [ 2 A G UL D) 23 A
136 4 RH () UT10-6 20 A
137 ] 4 RH (M) SV1.25-3.2 40 A

H

30T L5



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



M H R

i |

ik

EFERS H2023011193 B/¥/01 5 /5 /5
FERAE THJ 3000 / 1.0 - JXVF B AR 2000 X 2850 X 2200
EPER Jiipe FIHRER 148005 . 1600X 2100
WA 55| bR LR K5/ R3E %z K HE AR &1 F A % IE
JFITRS: 1600 X2100 S 1170 B
142 4 T OMJ-202A B TN 2B, HUIR 1 G | BB
% 117). brifEfheE °
7 144| B PR Bt Bl 1700 X 800 1 3
146 | H 1 IR S PR KJF: 1L=490 4 %
48| H BT S &l KJE: 1=2250 1 % | AnmiRMEES
P e R F IR IR T
150 | 4t BTk 0CM-202A IR 1600x2100 | = ’Sﬁi\hgﬁeg?ugﬁl\]
PN PR
B | 162] H RIS Bt B KJF: 1L=1800 5 £
i1 1163] H ZE 5 AR B B 1650 X 400 5 1
164| H JHES IR TR 5 K KR
165 H FHES IR A 25 A4 15 K
168 H 2 THIR 2R R FrifEA: K:500 25 A
5 Sof 2 S b 110%80 16 £F [1.0/2. 0)5 7 %2H
H piINZEEL ek £20000. 204 300%400 8 =y
169 | 4b S HLHD 5 kg
170 | 4k FATIK 2 kg
i 171 4k FE A 1 kg
Eﬂ o 172 4k PRIHDES 6 kg
173 | 4k BHUR R 1 £
174 H RES R FritEA ®8 mm, L=1000 5 %*
175 | 4 ES] 5 4 i
176 | 4 N VI, DR @ 440248 2 %
o S HEE IR AR FYTIER o n
179 4+ M HE$10 21 K 0 %
180 | 4h IMERE SR B, L=1860 0 s
181 | Ab |MEHES R E 2R =510 0 1 R
M| 182 4 1K O 84N 2248 0 %
183 A | g . O 8.3k 0 H
AR MR 2 e AR ponE 0 n
185 | 4b URIES (M12, FLEET72) 0 £ B
H4Tl; 5T
b R /R E OB
R 12023011193 B/35/1] 5 / 5 /5
FERRE THJ 3000 / 1.0 - JXVF AR 2000 X 2850 X 2200
P AR 0 FUOFRER tPPYE . 1600X2100
FEGa ke SR A 5 /As Z M B A &1 T i & I
1 | BRORE S 1244 M18 X 60 AooTss, mask, Rk, WERE | 30 = 8.8 ZhiAfth
I R R R R 12K M20X 110 PP, B SRR, XUZERE 0 £ 8.8 HALh
B R R R MR BEEE M16 X110 FOPH . PR SRR . RUBEE] 0 £ | 8.8 Akt
2 | SHIRE g 24 M16 X 40 BTk, DRl ik, dERE 8 £
3 |SHS R At 12 M16 X 70 OOk, ok, WBEE | 16 = 8.8 Aty
4 | ERERE b TSR I2AE M8 X 25 AoPH, sk, S2RE 16 £
5 | BEERE R AT R 1B M12 X 40 Ao, spdh WRRE 2 £
(I 2R M8 X 80 AP, it gk, i8R 8 £
7 |EI 12 M12 X 90 [ N NS 4 &
8 | IIWLEE S 28 55 S il A A 1R M12X45 APk, spdh, iBRE 20 £
9 |V SRS TR S 124 M12 X 45 [ N N S 2 £
o100 (MR A 5t 1R M12X45 Bo-Pik, spdh, iBRE 2 £
e |11 |IIHLS TIPS I2FE M12 X 45 NN 4 %=
12 | IS S T R S 4 1R M12X45 BooFE, Bpsl WRRE 4 £
13 | PR S 12k M18 X 60 Ao, el Rl IBRE | 24 S 8.8 AL
14 | FHZRL KA 1R M12X45 R4, JrRIE. Bidh, WERE) 12 £
15 | PR 2244t 124 M16 X 60 BTl Rl k. WERH 8 £
16 |G RAEE AR 2R MI12 X 40 BT, TRl g 42 12 £
17 | PiAt 54 AT e BEREM20 B2 X Pk, s, 3XUERE [ 4 &
18 Rkt S5HittE 24 M20 X 90 BOTak ., idd, 92k} 4 £
19 A% 124 M18 X 40 BTl TRl mpdR . WERE 20 £
20 A5 Hh AR 24 M16 X 40 BOFa . TR BRI BERH 8 £
21 |BF1 I3RS IR A4 124 M8 X 40 Bl Rl ik, WERH 5 =
22 |HE 5 5. IV A B2 M12 <40 [ e N NS 2 £
23 |BEWR S E#E 124 M8 X 30 Biopak . #pal, pERE, B | 60 £
B | 24 |BEARIESE KL M6 X 20 FoPH, sk, S2RE 176 £ | Hkdugty
Be | 25 |RORERR S EEE 12 M8 X 20 Ao, spdh . WREE 6 £
26 |BEWR TR 12 M8 X 30 Br-Pak . BRdh . BBRE 60 £
27 |FERREE UK EERERAEE M12x120 | (G CHGE . g, bRt | 132 53 TesE i
28 |FEMOREE (R ERAIEAE M12X280 | SO7ARHA. PHGEE. 2R | 60 53
5 29 |SCHtERE IR M12 X 45 Ao, spd WERE 80 =
QL 30 | EHUED IZFE MI12 X 45 Bo-Pik . spdh, iBRE 70 £ 13K
31 |APUEGD 12 M12 X 45 Ao, spdh . WRRE 70 = T5K
32 | EPERAMR IZFE MI12 X 45 BooFH, spdl WRRE 74 £



Skyfree
Skyfree:
114轨用M16X55


R

5 &

40 L5 T

EERE 112023011193 B//1] 5 / 5 / 5
ERE THJ 3000 / 1.0 — JXVF PR~ 2000 X 2850 X 2200
PR 0 FIHFARR PP 1600X2100
FEkGa ik ek DA 5 /AS Z M B A &1t T i & IE
33 |AIHIEEER 12 M10 X 30 Ao, spdh . WRRE 74 =
34 [XEAELE R 12 M8 X 25 BooFE, Bpsl WRRE 4 £
35 | EAE R 124 M8 X 25 BooPe, spd . WREE 4 £
Xt | 36 xRk e B24E M10 X 40 AoPH . sk, B2RE 4 £ | B OHUER
B | 37 [MWEE S ESH 12 M10 X 30 Ao, spd . iR 30 £
38 | % G AR IZFE M10 X 25 BeoPE, BRAL WRRE 2 £
39 [ X EFHIR S PR I M10 X 25 Ao, #pdh . WERE 24 =
JEYT| 40 [ZErhgs SR ZEIEEERARIE M12x120 APk, spdh . BBRE 12 ES]
| 41 | FRIFEY S R S 1244 M8 X 25 AP, spdl WERE 4 =
LRI | 42 | PRI AR ] o I IZ K M10X 80 AE R I, R 0 ¥ WE A 4
43 | W PR e 2 i p R S 12 M10 X 25 Ao, spdl WRRE 12 =
o) 44 *gﬁ&i%%%@%&ﬁ% IR M12X45 BeoFH, spdk, WRRE 12 = T13K
45 |REHEAR 5 S0 4 124 M6 X 20 (UG TH ], g, ) 5 £
46 |FRRAR R SRS 1R M12X45 AP A, sk WRRE 10 ES] T13K
LR EYALEIISEY M24 X 110 F P, ddk . Rl XUBRE | 4 = 8.8 %
5] | 48 | ENLE SN 4P e 12 M8 X 25 BeoPE, BRAL WRRE 4 £
Bl | 49 | R FIHLER LR E FISEERAIE M12x120 | (UFG-PHGE ., i, B | 12 53 HmA s
51 |47 A i e 2K A2 M10 X 80 i e £ I 7 S -y 1 4 X Wimgss |
52 |FF1E FS I B JKUEET 4X40 111 b3
i 53 [t HIF R E 1R M6 X 30 G B, 2R 4 £
9l BTN DT PY S Bt W8 25 AT W B | 4 &
7 55 | EyuRE AR E K IEAE M8 X 80 G TIAE . B, W2RE 4 % Wil 5%
56 | S EE e K HERE M8 X 80 T E . s, g 2 k3 HE A 4
57 | FRAE AL e SRR M12x120 | {UFE-PIRE . diE, iR 8 53
58 | WL FeJEAR I e IEZIKEERE M8 X 80 AFEFHE . R, iR 4 b3 HE A 4
59 | MRl R JKPBAT 4X40 78 b3
60 | FEUKSH [ 52 [ k8K M5 X 40 AFEFHE . I, 1R 4 £
M| 61 | MR I IR 2 [ SLEE K M5 X 40 AFEFHE . P, iR 0 £
Btk | 62 | EBh PR B K EERE M8 X 80 AFEFHE . R, iR 0 k3 HE A 4
63 | ML ZeAd il 2 JKIEAE M6 X 50 AFEFHE L B, IRRE | 25 % Wil 5%
64 | WLl R: IEFE M6 X 25 40 £
65 | 2R Hl il e [E 222 M4 X 10 60 b3
66 |HFITHRS Al 1R M10 X 25 i P, el 0 £
67 [N 51T %% 12K M10 X 30 BeoE, BpsL WRRE 2 £
RT| 68 | BRI RS S B2AE M8 X 25 FioFE, spd, WEEE 2 £
69 [ITHBE S ITRLSE 12K M10 X 25 BT, gk 2 S
70 |3 IR A SR B2AE M8 X 25 Fi P, spd, R 12 £
71 [1TERME JEZHK B2 A2 M8 X 100 ALAEFHRE . g IBRE | 30 £
72 |EII SRk B24E M10 X 30 AFEFH . R, iR 0 £
73 | EARAE IR A IZFE M6 X 30 AIET R 50 £
IR IRES S 24 M8 X 35 i P, il 10 £
75 [HuIRITHE R IZHE M8 X 25 ALIET R B 45 £
ke H B84 M5. 5% 19 0 =
e AR IEFEMS X 100 10 £
79 | B R R 2 5 S B 22 M6 X 25 AFEFHE L IR EE 14 £
81 |2 IS R FE A 22 4 PUkigHE M5X 15 G 42 £

b
(2]
p=il
p=:
(2]
=



